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BIERGSHRE
vm.overcommit_memory = 2
PN AZ AR TV 5 BC AR BT A 0 H8 P A7 AR A8 45 2 8] s R K P AT
vm.overcommit_ratio = 95
AR BN AER 4 EE, BRL50, vm.overcommit_memory =215 T 4 4%

FIRES BT E
gp_vmem_protect_limit

PR #1415 S5 pT A 1B B S N A R R B FR
TR

(SWAP + (RAM * vm.overcommit_ratio)) * 0.9 / number_Segments_per_server
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gp_resqueue_memory_policy
auto: WAZEHTH#E S Histatement_mem A& JE A A1 i memory _limitPR i
eager_free: N1EHFEH 2 Himax_statement_mem M #E JE A A1 i memory_limitPR i

max_statement_mem

PR 1) B A A v B KA I N A7, BRiA2000MB
(seghost_physical_memory) / (average_number_concurrent_queries)

statement_mem
A B E AN AT DA R N A S 2, BN 125MB, SR B 2 WA e ldRE, e
Jii ) B A
( gp_vmem_protect_limit * 0.9 ) / max_expected_concurrent_queries
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— MEMORY_LIMIT

R BRI C R

— PRIORITY

AR IEE W A U BR

— MIN_COST
— MAX_COST
— COST_OVERCOMMIT

REENPLUM =

postgres=# select * from pg_resqueue_attributes
postgres-# where rsqname = 'pg _default’;

rsgname

pg_default
pg_default

pg_default
pg_default
pg_default
pg_default
(6 rows)

resname | ressetting | restypid

active_statements | 80
max_cost

min_cost
cost_overcommit
priority

memory limit
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A E Ze T
HEAPZ T o] R4 |
e g REREGIT
A0 (orientation=row) ’ create table trmp

(appendonly=true)

ke

(orientation=column)

(compresstype=zIlib,
COMPRESSLEVEL=5)

FhERIIEL
et | e | AOFE | AOKATIE | AOKFIFF
K/N | 35GB|32GB| 34GB |30GB| 13GB 6822MB

with (appendonly=true,
orientation=row,
compresstype=zlib,
COMPRESSLEVEL=5)

as

select * from pg_tables

distributed randomly;
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GPFDIST > COPY > #t&ZINSERT > ZLINSERT

°* GPFDIST{LH &%

writable external table bufsize #EH] 3= Sz m SCH RS 25 k255

gp_external_max_segs

PRI R/, BRiL64kb

PRI ) SOl 55 B SE BT,
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* gpfdistsH#EHIz%: writable_external_table_bufsize

jzgf,ljg)’]\ SHIBER(s)  HAE(MB/s)  Z%kft(kb) SRR
. FR 2K BLp
45441 201 226.07 512 % BB 2 20
45441 56 811.45 16384 « E&HIF:160
o MZ%EER T IK
* gpfdisthn#iizdil =% gp_external_max_segs M)

jz(#l:F/ljB()/J\ SRR (S) | EFE(MB/S) Z Bl

45441 108 420.75 20
45441 59 /770.19 40
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est=# select * from gp toolkit.gp bloat expected pages
est-# where btdrelid=lower('public.tmp heap')::regclass ;
btdrelid | btdrelpages | btdexppages

test=# select * from gp_toolkit._ gp_aovisimap_compaction_info('public.tmp_ao'::regclass) ;
NOTICE: gp_appendonly compaction_threshold = 10 _
content | datafile | compaction_possible | hidden tupcount | total tupcount | percent_hidden

50111 | 50111 |
o | 50115 |
49889 | 49889 |
0 | 49885 |
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— vacuum
" vacuumBleAs TR ZE R B 22 [ Y T T
— vacuum- ey, LA 51k

= vacuum full
It &% maintenance_work_mem, 2kiA64MB

= i E A
alter table $TB set WITH (REORGANIZE=TRUE) $DK

AO*

— vacuum

= FHZ%:gp_appendonly_compaction_threshold,2kiA 10
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gpssh —f allhosts —e “dfigrep $datadir
o BRI RANH

select gp_segment _id,pg_relation_size(oid) size
from gp_dist_random('pg_class')
where oid = 'public.demo'::regclass
order by size desc;
gp_segment _id | size
+
0 | 4423680
1 | 0
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gp_workfile_limit_files_per_query

SQLE M/ ELHINAE AR, Bm B2 G S0k, #RIAMA 100000, 0F/= Rl
gp_workfile_compress_algorithm
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#gpssh -f allsegs -e 'du -sh /primary/gpseg*/base/17146/pgsql_tmp'|sort -k 2|grep -v du

[seg10] 881G /primary/pg_system/gpseg2/base/17146/pgsql_tmp
[seg10] 16M /primary/pg_system/gpseg3/base/17146/pgsql_tmp

#ls —IhSr /primary/pg_system/gpseg2/base/17146/pgsql_tmp
881G pgsql_tmp_slice10_sort 15673 0002.1

#lsof /data2/primary/gpseg45/base/17146/pgsql_tmp/pgsql tmp slice10_sort 15673 0002.1
postgres 15673 gpadmin ...

#ps —ef|grep 15673
gpadmin ... postgres: port 40003, ... con2132569 seg2 cmd32 slice10 MPPEXEC SELECT

datid datname procpid sess_id usesysid usename current_query w
oid name integer integer oid name text b

1714¢ | csgbi 60018 2132569 10 gpadmin [SELECT * FROMf
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o SRESEAEMVIHES
1tk pg_stat_activityfipg_locksry g, &2 7 s (e EAAFE S RIENL, RYESLPR
TFIEMMY 5532 5 EARAL

time="date '+%Y-%m-%d %H:%M:%S"

psql -c "

insert into pg_stat_activity log

select '$time',* from pg_stat_activity where current_query <> '<IDLE>’;
insert into pg_locks_log

select '${time}’,*

from pg_locks
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« FlEHMA TN
test=# explain select * from tmp1 a join tmp2 b on b.c=a.c;
P\jﬁ] 3 g*&/u\ QUERY PLAN

Gather Motion 80:1 (slice3; segments: 80) (cost=1.04..3.15 rows=4 width=104)
ﬁ‘ -> Hash Join (cost=1.04..3.15 rows=1 width=104)
Hash Cond: b.c = a.c::text

-> Redistribute Motion 80:80 (slice1; segments: 80) (cost=0.00..2.06 rows=1 width=8)
Hash Key: b.c
-> Seq Scan on tmp2 b (cost=0.00..2.02 rows=1 width=8)
-> Hash (cost=1.03..1.03 rows=1 width=96)
-> Redistribute Motion 80:80 (slice2; segments: 80) (cost=0.00..1.03 rows=1 width=96)
Hash Key: a.c::text

-> Seq Scan on tmp1 a (cost=0.00..1.01 rows=1 width=96)
Optimizer status: legacy query optimizer
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create table t01 as select * from pg_tables
distributed by (tablename);
create table t02 as select * from pg_tables
distributed by (tablename);
create table t03 as select * from pg_tables
distributed by (tablename);

55 Funion allfF} e~ S E 040

est=# explain
est-# 1nsert into t03
est-# select * from toO1l
est-# union all
est-# select * from t02;
QUERY PLAN

Insert on t03 (cost=0.00..8.30 rows=108 width=259)

-> Append (cost=0.00..6.15 rows=108 width=259)

-> Seq Scan on t01 (cost=0.00..3.07 rows=54 width=259)

-> Seq Scan on t02 (cost=0.00..3.08 rows=54 width=259)

Optimizer: Postgres query optimizer
(5 rows)
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explain

insert into tO3
select * from tO1l
union

select * from t02;

Insert on t03 Icost=12.06..16.36 rows=108 width=259)

-> Redistribute Motion 2:2 (slice2; segments: 2)
Hash Key: t01l.tablename

-> HashAggregate (cost=12.06..14.21 rows=108 width=25¢

(cost=12.¢(

Group Key: tOl.schemaname, t0l.tablename, t01.tab

-> Redistribute Motion 2:2 (slicel; segments: 2
Hash Key: t0l.schemaname, t0l.tablename, t0
-> Append (cost=0.00..8.30 rows=108 width
-> Seq Scan on t01 (cost=0.00..3.07
-> Seq Scan on t02 (cost=0.00..3.08
Optimizer: Postgres query optimizer
(11 rows)

3 FEl N RRESR A B o Afi

test=# explain
test-# 1nsert into t03
test-# select * from t01 a;
QUERY PLAN

Insert on t03 (cost=0.00..3.07 rows=54 width=259)

-> Seq Scan on t0l a (cost=0.00..3.07 rows=54 width=259)
Optimizer: Postgres query optimizer
(3 rows)

Time: 1.246 ms
test=# explain
test-# 1nsert into t03
test-# select * from t02 a
test-# where not exists(select 1 from t01 b
where a.tablename=b.tablename);
QUERY PLAN

(cost=4.41..8.09 rows=4 width=259)
-> Hash Anti Join (cost=4.41..8.09 rows=4 width=259)

Hash Cond: (a.tablename = b.tablename)

-> Seq Scan on t02 a (cost=0.00..3.08 rows=54 width=259)

-> Hash (cost=3.07..3.07 rows=54 width=64)

-> Seq Scan on t01 b (cost=0.00..3.07 rows=54 width=64)

Optimizer: Postgres query optimizer
(7 rows)

Insert on t03
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create table test1(id int,message text )
distributed by(id);

create table test2(id int,city text )
distributed by(id,city);

test=# explain
test-# select *
test-# from testl a
test-# join test2 b on a.id=b.id ;
QUERY PLAN

Gather Motion 2:1 (slice2; segments: 2) (cost=1216.00..335049.§
-> Hash Join (cost=1216.00..335049.60 rows=1230080 width=72)
Hash Cond- (h 1d = a.1d)
-> Redistribute Motion 2:2
Hash Key: b.id
-> Seq Scan on test2 b (cost=0.00..596.00 rows=24
-> Hash (cost=596.00..596.00 rows=24800 width=36)
-> Seq Scan on testl a (cost=0.00..596.00 rows=24
Optimizer: Postgres query optimizer
(9 rows)

(slicel; segments: 2) (cost

test=#

create table test1(id int,message text )
distributed by(id);

create table test2(id int,city text )
distributed by(id);

test=# explain

test-# select *

test-# from testl a

test-# join test2 b on a.id=b.i1d ;

QUERY PLAN

Gather Motion 2:1 (slicel; segments: 2)
-> Hash Join (cost=1216.00..334057.60 rows=12
Hash Cond: (a.i1d = b.a1d)
-> Seq Scan on testl a (cost=0.00..596.
-> Hash (cost=596.00..596.00 rows=24800
-> Seq Scan on test2 b (cost=0.00
Optimizer: Postgres query optimizer
(7 rows)
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1. tR¥Esess_id&E & segmenti iR,
KIMseq01 FErsegOrEZEFFIRE
gpssh -f allsegs -e 'ps -ef|grep 1741873'

[seg01] ... con1741873 seg0 cmd13 MPPEXEC
UTILITY waiting

2. fEHPGOPTIONS ;5 i%H22seg01
Hseg0i i R YE Y Aijsess_id&FH
segment i A Hpid

PGOPTIONS="-c gp_session_role=utility" psql -
h seg01 -d dbname gpadmin -p port

# select procpid from pg_stat_activity where
sess_id=1741873

GREENPLUM =
DATABASE (O BHTAE

3. RIEpIdEBIEIHE R
RN L FSS
select pg terminate backend(pid);
R TG 555
select relation=62542114 from pg_locks
where pid=7511;

select transaction from pg_locks where
relation=62542114

select gid from pg_prepared_xacts where
transaction=98158175 ;

ROLLBACK PREPARED ‘gid';
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Be notified of new releases

Create your free GitHub account today to subscribe to this repository for new releases and build software alongside 50
million developers.

(Latest release )

6.11.2

©6.11.2
-releng released this 19 days ago - 13153 commits to master since this release
-O- d611e78 e o 8 VEad
Compare v Greenplum-db version: 6.11.2

~ Assets 8

@ 6.11.2-src-full.tar.gz

77.5 MB
@ 6.11.2-src-full.zip 85.2 MB
@ greenplum-db-6.11.2-rhel6-x86_64.rpm 66.8 MB
(%] greenplum-db-6.11.2-rhel7-x86_64.rpm 65.8 MB
@ greenplum-db-6.11.2-ubuntu18.04-amd64.deb 58.9 MB
@ open_source_license_greenplum-database-6.0.0-97773a0-1566481111.txt 130 KB

[) Source code (zip)

[) Source code (tar.gz)

5.28.2

o 2afear Mzin M tarny

21daysago ©




Greenplumfifs EoR i #E

© sEenne omREAS




© s omAEks




